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1. A% GABA ZBBETHA  RESUTHMAETFEABEAAFAERW
;e
(A) $58F
(B) su&T
(C) své+
(D) f&T

2. ABFAMERLIESTAFEAR
(A) 2-20000 Hz (# )
(B) 2-2000Hz
(C) 20-20000 Hz
(D) 20— 2000 Hz

3. A BEEM  FHEA —BHAREYN - FMZALZIHE 222
Ra: ‘
(A) 473FiRiE 2 %751 (deactivation)
(B) 4787z R 7E{L (inactivation)
(C) #x2e-Fi@i8 2 £7E{t (deactivation)
(D) ¢u#EFiBiE 2 RiE{L (inactivation)

4 HEEZHALGYHBENTE (BR25E) 242REBAT > AREHL
BEALAL 80mV e 2ok Eiafashim EARAB R P L BB SR Y
MR BRRABLEEEM RTAESA
(A)# -40 mV
(B)# -60 mV
(©)#% -100 mV
D)4 -120 mV

5. FEMME X ER G TFIMTHEME L& T
(A) R B AT & 8 AT Bk 4
(B) % B AP 42 87 15 ik 4
(C) &) % B A% 43 8 AT 4k 4
(D) &) 3% B 4% 4286 14 i 4

6. FREAAR—EFABEE  LEARMFG LB RO T - BB
BB REEE BN EEAMOEP R FREFEET - BRE
Bt BREALARRAES » UBRHEALEARRI - FHERL 0
& 0 WA AL KRBT ?
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(A) 3%
(B) %
(C) 1R
D) i

7 RERAEZREESYE EEERRATERSTENBERM M S8 T
FlfTHEN R ?

(A) BEm R TR EFEYE acetylcholine

(B) B AR Ties 5L substance P

(C) B35 acetylcholine » F483%B|## K substance P

(D) Ei%%3EH substance P » PiE3RIFEH acetylcholine

8. AMRBHRIFRE > HIFRIRG RITRFAE > ABEHRZ
(A) norepinephrine ## 4o » acetylcholine i, 2
(B) acetylcholine #¥ 40  norepinephrine
(C) norepinephrine $£ acetylcholine % #2 #o
(D) norepinephrine $2 acetylcholine & i b

9 BATERAR ELAERAZINEER - £ BRI M AT 08 A0 5 P 48 B AT 4748
HRERE  REHRETET

(A) glutamate

(B) GABA

(C) serotonin

(D) NO (—&a4tg)

10. EhkpmEm Lz R et P ERZ SR T
(A) cGMP 3 ju » By stémfe£4E1t
(B) cGMP #40 > B sk a b iBiElL
(C) cGMP B2 » B Héafb 2421t
(D) cGMP B2 @ Bt fpi®iE{t
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13.

14.

15.

16.

# koo g w486k (supraventricular tachycardia)z /5 .& » AR T A EF
g dbE « AE BT

(A) #: & fe#r#) Bainbridge & 4

(B) #2/ At & 1 8k B R 4t (baroreflex)

(C) 4% 2 #& 7 1udt £ R 4t (chemoreflex)

(D) 42/ #4941 & P 48 (vagal center) =

SHEZEGER LT 0 E AL &R T PITAEY T S By b e AR
KRB e A 7

(A) #4#£ ¥ K Bt %(plasmin) »

(B) %t 5% As(thromboxane Aj) »

(C) #h4 7% & JB (fibrinogen) & 45 % F »

(D) — A.1b & (nitric oxide) & PGI, (prostacyclin) «

E B Uk R F &0 & B AT A & 4 U &5 (angina pectoris) ?
(A) £ E B3 pom B E Ak &5 fo
(B) A E B mla X EHARES TS
C) ACERETHEMABLEIHRBLTRE »
(D) £ EETFTHEALRE EIHAREEE fo o

B X Ak R I8 B B A 4F T4k 5 (diastolic murmur) + H B BT ?
(A) EcERiEG ‘

(B) &= 5 EiBE

(C) £&amH % (stenosis)

(D) x %Rk Al44 R & (insufficient) -

$ Az oHHE A 5250 mU/min ¢ S pkig £ 4 75 beat/min o 2 sb A Z SF AT
(end-diastolic volume)# 135 ml » 2| £ 4 45 K #4 8 5 (end-systolic volume) & 47T ?
(A) 70 ml »
(B) 65 ml -
(C)205ml »
(D) 200 ml -

EEHMBREN R EE—ESLE L Eg 5 A (hypertrophy) 9 R AB1ER -
ERBIERAZEZ 8 AMT?

(A) Bl oER

(B) BRASER.
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17.

18.

19.

20.

21.

22.

(C) #Avk o F 2 IWEEREE /7 (systolic wall stress) »
D) BEAESEZWHERES -

AL B 4T (afterload) ¥ Aok > FHTELE?
(A) BiRSHUK SR E »

(B) gL E4FRAEBE »

(C) #AowpLEEsMEIFEE »

(D) Bigs EERA ©

T #)4e7 & 7T 3 Ho#% Bk & % (venous return) ?
(A) & &%k (inspiration movements)
(B) =F #.%y4% (expiration movements)
(C) X BLIBRFE 2 R AP BB M 6938 Ao
(D) X BLFPBKF 2 38R 8 TF M 04 [E 18, o

HERN R a2 BB 0T M T 24 F i % % 5 B (transmural pressure) &) 4% i, F
3% Jo#8 & & (driving pressure) » 4§ E 28 T 4055 2 9

(A) &R A 3% o >

(B) s PE 1 FFE

(OFT 3B F -5 <"

(D) n % 22 7k J1(wall tension)#% ju -

3E Bk Ao 42 & R EF A P 48 M E R (central depression)B¥ » K W AE/LE R STey L R
AT P

(A) £ ks

(B) SHARBE T & »

(C) £ % & # & (compliance)3¥ fo >

(D) §& P (intracranial pressure) F & o

M7 B — % ju(single unit) &y FiFBL, T 7150 — B4 2 227897
(ARt E i s EAFFmn sy

(B)*T & 2| %) 4& & 1z (action potential) & {2 i & 42 (slow wave potential)
(C)4 3% i ik (fast stretch) 7 12 &, % 484t (depolarization) & # 4 J- & BLA
(relaxation)

DOEEREZWHEA KRR SR RFE
T RIS & RTAE PRI GERE?

(A) #HIFLIRE & 4848 3 55 (myosin light chain kinase) 2 2% & #% (phosphatase)
(B) H#Aak & & 3248 3 88 (myosin light chain kinase) #2 2 & 88(phosphatase)

kR




AR - 201 Br2BAEI08FEHLHBAFRRM

3 : }E,@i y ﬁﬁ% 201
ﬂ@i é. & _ #* 7 Ez%—f/§

(C) Al AEE & 848 #88(myosin light chain kinase){2 #p #| &% 8 55

(phosphatase)
(D) ¥ ALRE & 3248 85 (myosin light chain kinase){2 f) i &% 5% &5
(phosphatase)

3. A MRS TURERERIZSET RRCER 23 L BT
B FME—BRLAGRZRBR T A EY 0 HMAKEZAEA R
C(A) FRAKEBREZIEY PN RSB
(B) PEMIERELIHE  MEBN LG R LYY
(©) FENAF IR HE LI B
D) FEMEFHENZUBERZHE

24.7F 7 sk dlifey 44387 :
(A) FiFALE A #AUE FE (tropomyosin)
(B) AL#%& & E4¢ (Myosin heavy chains) f£-FF ALk S LR MM A &
(©C) FEMFMEE & SILEE G & tb{i (Actin/myosin ratio) kb F #5 AL
(D) oA Egfil H443R

257 AL #e 71 M4 BF LA 4 P9 2 55 47 (A band) = 1.6 um; 8 #%(I band) = 0.8 um;
H E(H zone) = 0.6 um ° 37 &) % LA 40 45, &RV 10%8%5, H & (H zone)#
REE BT
(A) 1.6 um
(B) 0.36 um
(C) 0.54 um
(D) 0.9 um

2642k AR A B HAT > & H8(pons) Bk k8928 S 1 B 1(R 297
#) g3l '
(A) F&& &%

(B) R~ g
(C) F+RmEIE - X
(D) =B %1% ~ 4%k

27. 4% B & 4 (oxygen dissociation curve)£$ &1 A Rl 8F » 44 H ¢
(A) pH {4 M5,
(B) —fic# +&
©) BELFF
(D) 2,3-diphophoglycerate & 3% o

AHE
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28.25 SR E F aY Al 3E 3L A Sy (diffusion capacity) » % FRKEE 8 CO» 53] F
7] #fE:
e JhiEF CO #94 /& =0.5 mmHg
o CO &k F =10 ml/min
HRE F AR SR AT
(A) 6.0 ml/min/mmHg
(B) 10 ml/min/mmHg
(C) 20 ml/min/mmHg
(D) 5 mU/min/mmHg

20,5 % £.88 7% (chloride shift)eg 4k ik » T F|47 & E 5%
(A) Be)A Z#3F i ML 23 B 6 -F4.
(B) thbiB#2 4 3% 8% AT B4 (carbonic anhydrase)4# k.
(C) 4 4 F =% % 4R (bicarbonate) i o 5E 2| 47 fo 3K 85
(D) A ke 3E

30.% Bf 64 & & 7k /71 40 B (surfactant) i 2 8% » & ¥ R ey $4e % ¢
(A) 3 HoBf &4 8 JE 4 (compliance)
(B) &4k zh 5 A 44 & (functional residual capacity)
(C) EAushsEridR E
(D) BDerRERA

31. Which one has the lowest pH?
(A) Gastric juice
(B) Pancreatic juice
(C) Saliva
(D) Bile

32. Which one is NOT true for liver function?
(A) Synthesis of albumin
(B) Synthesis of ammonia
(C) Conjugation of bilirubin
(D) Buffer blood glucose

33. Which enzyme involved in urea cycle is in mitochondria of hepatocyte?
(A) Carbamoyl synthetase
(B) Arginosuccinate synthetase
(C) Arginine succinate lysate
(D) Arginase
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34. Gastric pressures seldom rise above the levels that breach the lower esophageal
sphincter, even when the stomach is filled with a meal, due to which of the
following processes?

(A) Receptive relaxation

(B) Peristalsis

(C) Gastroesophageal reflex "
(D) Segmentation

35. Which one is NOT true for pancreas?
(A) Insulin is secreted by pancreatic B cells
(B) Secretion of pancreatic juice is primarily controlled by reflex and hormones
(C) In acute pancreatitis amylase and lipase rriay leak into plasma
(D) Gastrin is secreted by pancreatic G cells

36. Which one is NOT related to renal function?
(A) Excretion of metabolic waste
(B) Regulation of whole body fluid status
(C) Regulation of electrolytes and acid-base
(D) Angiotensinogen synthesis

37. Which one can stimulate natriuresis?
(A) Angiotensin IT
(B) Renal sympathetic nerve
(C) Aldosterone
(D) Urodilatin

38. In the absence of vasopressin (anti-diuretic hormone), the greatest fraction of
filtered water is reabsorbed in the
(A) Proximal tubule
(B) Henle loop
(C) Distal tubule
(D) Cortical collecting tubule
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39. Glucose reabsorption occurs in the
(A) Proximal tubule
(B) Henle loop
(C) Distal tubule
(D) Cortical collecting tubule

40. Which one is the principal buffer in the interstitial fluid?
(A) Hemoglobin
(B) Albumin
(C) Carbonic acid
(D) HoPO4~

4. FTHF—REREFRETHE cAMP EHE e R HERA T
(A) antidiuretic hormone ©
(B) catecholamine ©
(C) luteinizing hormone ©
(D) progesterone ©

42 F ik # R insulin 447 £ E 5 7 5
(A) T# 4o glucose transporter 4 72 5T 4w Bk o & 3R, » M 3% Ao glucose R »
[E{R 4B
(B) T3 4w glucose transporter 4 & f5hf fm B BE 69 R IR + M3 Jo glucose R
W0 SR e i
(C) T3 4v glucose transporter 4 249 48 ém fE R 89 & 3R > M 3 Jo glucose &R
g R ARg o
D) ULEEE-

43. THRF—HERETREZAT AR
(A) growth hormone °
' (B) testosterone °
(C) thyroxin o
D) LET -

4. FTHH—ER AR TRERENTH?
(A) growth hormone o
(B) thyroxin -
(C) BAE¥ETT
D) LS
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45. THH—ERBETHE ok
(A) growth hormone
(B) glucagon °
(C) epinephrine °
D) ALET -

46. fHdosk A8 TREMEIR » FTHMEER B R HEL?
(A) 48 & & (oxytocin) & ik 2 o
(B) ¥ #xa% & (thyroid hormones) 4~k i b -
(C) 2% (prolactin) 4t b o
(D)es % 9E -

47. THALH B E S FLE hoMmEim ?
(A)4£ &i# % (growth hormone)
(B)4& £ % (melatonin)
(C)a| ¥ #k i % (parathyroid hormone)
(D)t £ % 9

48. T i A B F (leptin)fe] & E2E 7
(AXZdgslpmBaitl -
(B) £— AR  AFLBE—HEEILES
C) BFBHILTHELNES -
D) A EHE o

49. THA—HEARTHERE R gk ?
(A) cortisol °
(B) thyroid hormones °
(C) oxytocin »
(D) AL -

50. FFIAFER B R T H AT F A (endometrium) B £ ?
(A) estrogen °
(B) progesterone
(C) ;%= o
(D) A E%HdE-

KA AL




